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2. Which matrix would you multiply by in order to solve the equation -1
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4.  What is the value of w that makes the statement at right true? ‘
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5. What are the foci of the ellipse with equation 2x* + y* =107 —1a=3 e

A (15.0) e (0x5) e (245.0) @O,i\/g) iy o 1

o S LSS

2 2
- +4
6. Find the vertices of the hyperbola with equati (x 253) oo & A ) =1
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7. Which graph best represents the graph of 6y2 +3x* =182
A. B. C.

=i T




8. Which equation best represents the graph at right?
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9. Let @ be an angle in standard position. Given tan# >0 and sin& <0 , name the quadrant in which & lies.

A. Quadrant | B. quadrant | adrantlll D. quadrant IV
ar, j
~¢-t§ \ Z;
2r O )
10. Find the reference angle for ? ;
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11. The amplitude of the graph of y =-2cos 3x is what value?
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12. What is the phase shift of the graph of y = 4sin(2x + 71)? Ay =~ a8

x = -T0 i
A. 7 left B. mright C. 2mright b 5 left

13. In the interval 0 < x < 2, the solutions of the equation sin’x = sinxare QOF '
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14. What is the solution set for 2cos € — 1 = 0in the interval 0° < & « 360°7
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15. What is a value of Arc sin[—-wz—a]? use B,O-u.(‘ C QJ CMJ otvu
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16. The value of cos(arctan \/5) is
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17. Alis standing 50 yards from a maple tree and 30 yards from an oak tree in the park. His Maple tree
position is shown in the accompanying diagram. If he is looking at the maple tree, he needs to \\
turn his head 120° to look at the oak tree. .
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How far apart are the trees? & \ c‘

A. 58.3ft B. 65.2 ft @) ft D. 75 ft \
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18. In AABC, ms4 =33, @ = 12,and & = 15. What ismZB to the nearest degree?
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19. Find the component form of the vector v . Df'OWQ o ?;du_(_p_ ~ [a..,l,g,o..
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A) =(4.70,1.8) B) =(1.71, 4.70) C) =(0.94,0.39 4.70, L.71)

Given that P = (-4, 5) and Q = (~6, 4), find the component form and magnitude of the y&&o

AY(-10,-1), Af101 B)(2,1),4/5 20,5 ;
'h’—rmln&.Q_,:ro;n"r e \(nl‘HCLQ FOI\K_T_ \} l a >~
L-bo-=Y, -7 ;5 5 VA




—~——



